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s RubyDCL.rb ~

DCL: :grswnd (tmin, tmax, zmin, zmax) \# 0000000
oooo

DCL: :uspfit \# 00000
ooooo

DCL: :grstrf \# JO0O0g0no
DCL: :sglset (’1fprop’,true) \# JO0oono
ooooooo

DCL::ussttl(°TIME’, °YEAR’, ’HEIGHT’, ’km’)\# OO 0OO0O0O
O
DCL: :uelset("ltone",true) if ARGV.index("-color") \# 0O O
O

DCL: :uetone (u) if ARGV.index("-color") \# O O
aad
DCL: :usdaxs \#« JO0Ododad
O
DCL: :udcntr (u) \#« JO0Ododad
O
DCL: :sgstxs(0.02) \# JOoogdno
oooad
DCL: :sgtxr(0.7,0.9, "umin="+u.min.to\_s+" umax="+u.max.to\]
\# to\_s OO

oooad
require '"date"
DCL: :sgtxr(0.75,0.85, "created by \#{\$0} \#{Date.todayl}")
DCL::grcls
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2.1 O0OO0OO0O0OO0OO

2.1.1 Ruby
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gobobboboboodgooooobobboobbbuoooooooon
gooo

3.1 plot

3.1.1 plot

gbobobooggbobobogoobo

command >> plot f(x) x[x.min..x.max] yly.min..y.max] option = ...

Oooooad

user%ruby ruby — gnuplot.rb

command >> plot sin(x) x[—10..10] y[—10..10] option = linespoints
output >>> orange.gpl

user%gnuplot orange.gpl
oood

e
i
e, A N‘h} i

0 3.1: sin(x) O linespoint 0 00000000000
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3.1.2 plots

OoOOoodOplotDOOO0

command >> plot f(z), g(x), .. x[z.min..x.maz| yly.min..y.maz|option =

Oo0Do0oo

user%oruby ruby — gnuplot.rb

command >> plots sin(z), cos(x), tan(z) [—10..10] y[—10..10] option =
points

output >>> orange.gpl

userYognuplot orange.gpl

10
sin(x) +
cos(x) X
* tan(x) ¥
*
*
5L .
X *
*
*
* *
* *
* « % N % *
* * *
X XXXXx>O<>< ettt X s Tansat * Xxxxxxxxwzﬁﬂuﬂrn
K X 2, Ty K XX Xx, *, x"?( XX X, +y
0+ o XX XX x+ XX XX *er XX XX M oaly
+%<Xx " Xog ng‘ *%X X E ><><><)(X +
OOyt + KOO0 b5 000 D X004
* * * *
* *
*
* *
*
*
*
5 N
*
*
*
-10 L I |
-10 -5 0 5 10

0 3.2: sin(x),cos(x),tan(x) 0 points 000000000000
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3.1.3 plot3d

OoOOob0300b00buooboobuobpletbooboobon

command >> plot3d f(x), g(x), .. z[x.min..x.mazx] yly.min..y.max] z[z.min..z..max]
option = ...

goodoo

user%ruby ruby — gnuplot.rb

command >> plot3d sin(xxx), cos(xxx), tan(r*x) x[—2..2] y[—2..2]z[-1..1]
output >>> orange.gpl

user%gnuplot orange.gpl
oooad

O 3.3: sin(x*x),cos(x*x)tan(x*x) D0 0000000000

14



3.2 animation
3.2.1 animate

OO0000oobooO0oo0ooboobobDbobOOOgnuplotd00on0oOO0O
O000000000D0DO0O00000000git00000000ODDOO
gobbobbboooooooobobbbbooooooooboboobo
gbobboobooboobooboob

command >> animate f(x), g(x), .. z[x.min..x.max] y[y.min..y.mazx] option =

oooooo
user%ruby ruby — gnuplot.rb

command >> animate sin(x),cos(x) x[—10..10] y[—1.5..1.5]
output >>> orange.gpl
user%gnuplot orange.gpl

gogog

0 3.4: sin(x),cos(x) 0000000000000
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mmmmmmm

O 3.5: sin(x),cos(x) 00000
gboboogobood

O 3.7: sin(x),cos(x) D0 00O
gooooooosbn

0 3.9: sin(x),cos(x) 00000
goodooooiooo
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0 3.6: sin(x),cos(x) 00000
gboboogg 1500

P —

O 3.8: sin(x),cos(x) D0 00O
goodgdoooo200

0 3.10: sin(x),cos(x) 00000
goodooooo200



3.2.2 listplot

listplot 000000000 DOO0OOOOOOOOOOO

command >> listplot filename x[x.min..x.max] yly.min..y.max]

Oo0Do0oo

user%oruby ruby — gnuplot.rb
command >> listplot Mandelbrot.dat
output >>> orange.gpl

user%gnuplot orange.gpl
oood

05 -

O 3.11: Mandelbrot O O O OO
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12
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3.2.3 listplots

listplots OO0 DO OO00DOO0OO00OO0O0OOO0O0DOO0O0ODOOO0ODOO

command >> listplots filename x[z.min..x.mazx] yly.min..y.max] O
gdd

Oo0O0oo0o

user%ruby ruby — gnuplot.rb

command >> listplots res x[0..30] y[0..300]100
output >>> orange.gpl

user%gnuplot orange.gpl
ooogd

[ —

0 3122 MSEOOOOODOOOODOOO
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0313 mse000000O0O0OO

gobobodd
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I '\\

O 3.15:mse 00000000

gbooD2000
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O 317 msel00000O0OOO

obg3000
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3.2.4 listplot3d

listplots DO O OO0OOO0OO0O0O3DOOOOOOOOODOO0OO

command >> listplot3d filename x[x.min..x.mazx| yly.min..y.max] z[z.min..z.mazx]

goooon

user%ruby ruby — gnuplot.rb

command >> listplot3d res z[—1..1] y[—1..1] 39
output >>> orange.gpl

user%gnuplot orange.gpl
oood

0319 00b000bo00bgf

20



0 3.20: Ugoogoooagao 0 321: dgouguobagao
gooo 60 0 0

0 3.22:. 000000000400 0 3.23: 000000000400
2000 8000

0 324: 00000000000 0325 00000000000
4000 10000
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4.1 rubyUOOO0O0OOooogn
00000000000000000000000000000

include Math

require ’pp’

//orange libraryO OO OO

Dir.chdir("1lib_orange"){
require ’plot_con’
require ’plots_con’
require ’plot3d_con’
require ’anime_con’
require ’listplot_con’
require ’listplots_con’
require ’listplot3d_con’

require ’option’

print ’maple command >>>’
temp = gets.chomp

com = temp.split(" ")

//command O OO 0OO gnuplot U O OUODOOO contents U [
Oooooooon
if(com[0]=="plot’) OO ODOMO

22



contents = plot_con(com)

elsif(com[0]=="plots’)
contents = plots_con(com)

elsif (com[0]=="plot3d’)
contents = plot3d_con(com)

elsif(com[0]==’animate’)

contents = anime_con(com)

elsif (com[0]=="1istplot’)
contents = listplot_con(com)

elsif (com[0]=="1listplots’)
contents = listplots_con(com)

elsif (com[0]=="1listplot3d’)
contents = listplot3d_con(com)
else

puts ’Erorr’

end

/00000000000 contentsd 000 plotd OO plotO
O0Oanimation 00000 oooooooooooooooon

filename = ’orange.gpl’

File.open filename,’w’ do |f|000
f.write contents

end

puts ’output >>> orange.gpl’

//orange.gpl gnuplot U0 O OOOOOOOOOOOOOOO
oooooao
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4.2 OJO0O0OO0OOO0OO0

- plot_con.rb

def plot_con(com)

= com[2] .split("[")
= b[1].split("..")
= c[1].split("]™)
com[3] .split("[")
= e[1] .split("..")
= f[1].split("]™)

| H O Q& O T
Il

c[0] .to_s
d[0] .to_s
f[0] .to_s
g[0] .to_s

X_min

X_max

y_min

y_max

contents = ’set xrange [’ + x_min + ’:’ + x_max + ']’ +
" \nll +
) ) 3 ) W) ) )
set yrange [’ + y_min + ’:’ + y_max + ’]’ +
n \nll +

'plot ’+ com[1].to_s + opt(com) + "\n"

return contents

end

//00000000000000000 £(x)00
goooouoouoooooooon

N
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def

g H O Q& 0O T

h

end

X_
X_
y_
y_

plots

plots_con.rb ~

plots_con(com)
com[2] .split("[")
= b[1].split("..")
= c[1].split("1")

= com[3] .split("[")
= e[1].split("..")
= £[1].split("1™)

c[0].to_s
d[0] .to_s
f[0].to_s
gl[0] .to_s

min

max

min

max

J )

= com[1] .split(",")

length = h.size

for i in 0..length-1
if (i<length-1)

plots = plots + h[i].to_s + opt(com) + ", 6"

else

plots = plots + h[i].to_s + opt(com)

end

contents = ’set multiplot’ + "\n" +
’set xrange [’ + x_min + ’:’ + x_max + ’]’ +
" \Il" +
’set yrange [’ + y_min + ’:’ + y_max + ’]’ +
"\Il" +
’plot ’+ plots + "\n"

end

return contents

//00000000000000000 £f(x),gx)..00
gboboooobboboooono
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-~ plot3d_con.rb

def plot3d_con(com)

= com[2] .split("[")
= b[1].split("..")
= c[1].split("1")

= com[3] .split("[")
e[1].split("..™)
= £[1].split("1™)

= com[4].split("[")
= h[1].split("..")
= i[1].split("1")

(R = ¢ R o S O B o NN o N o
1]

x_min = c[0].to_s
x_max = d[0].to_s
y_min = f[0].to_s
y_max = g[0].to_s
z_min = i[0].to_s

z_max = j[0].to_s

splot =’ ’

k = com[1].split(",")
length = k.size

for i in 0..length-1
if (i<length-1)

splot = splot + k[i].to_s + opt(com) + ","
else

splot = splot + k[i].to_s + opt(com)
end

/0000000000000 000D £fx)00
gbooboobobobbooboobooo

N
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-~ plot3d_con.rb

contents = ’set multiplot’ + "\n" +
’set xrange [’ + x_min + ’:’ + x_max + ’]’ +
"\Il" +
’set yrange [’ + y_min + ’:’ + y_max + ]’ +
u\nu +
’set zrange [’ + z_min + ’:’ + z_max + ]’ +
u\nu +

’splot ’+ splot + "\n"

end
return contents
end

/0000000000000 0000 £(x),gx),...00
gbbboooobbbouoooobbob
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anime_con.rb

def anime_con(com)

= com[2] .split (" [")
= b[1] .split("..")
= c[1].split("]™)

= com[3] .split("[")
= e[1] .split("..")

= £[1].split("1™)

g H 0O Q& O T
|

c[0].to_s
d[0] .to_s
f[0].to_s
gl[0] .to_s

X_min

X_max

y_min

y_max

1)

anime
h = com[1].split(",")

fx = [l
h.size.times do |il

fx.push h[i].split("(x)") [0]
end

for j in 0..8*PI

anime=anime+’plot ’
fx.size.times do |il
if (i<fx.size-1)
anime=anime+fx[i]+’ (x+’+j.to_s+’) ’+opt(com)+’,’
else
anime=anime+fx[i]+’ (x+’+j.to_s+’) ’+opt(com)+"\n"
end
end
anime += ’pause 1’+"\n"

end

28




e anime_con.rb ~N

contents = ’set xrange [’ + x_min + ’:’ + x_max + ’]
+ I|\nll +
) ) 1 ) o) )
set yrange [’ + y_min + ’:’ + y_max + ’]
+ I|\nll +
anime

return contents

end

//00000000000000000 £f(x),gx),...00
gbobbooodgboboboooobbbob
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def

g H O Q& 0O T

X

end

N

X_
Y-
y-

listplot_con.rb

listplot_con(com)
= com[2] .split("[")
= b[1].split("..")
= c[1].split("1")
= com[3] .split("[")
= e[1].split("..")
= £[1].split("1™)

_min

max
min

max

contents

c[0].to_s
d[0] .to_s
f[0].to_s
gl[0] .to_s

= ’set xrange [’ + x_min + ’:’ + x_max + ’]’
+ n\nn +
’set yrange [’ + y_min + ’:’ + y_max + ’]’
+ n\nn +

’plot 7 +’\’’+ com[1] +’\’’ +opt(com)+ "\n"

return contents

/0000000000000 000boD0b0oboooooog
obobboobooboobooboobod

30




-

listplots_con.rb

require ’pp’

def

g H ©0 Q& 0o T

X

X_
y-
y-

_min

listplots_con(com)
com[2] .split("[")
= b[1].split("..")
= c[1].split("]"™)

= com[3] .split (" [")
= e[1] .split("..")
= f[1] .split("]")

c[0] .to_s
d[0] .to_s
f[0].to_s
g[0] .to_s

max

min

max

plot = []

out = []

com[4] = com[4].to_i
for i in 0..com[4]

if (i<10)
number = *00’+i.to_s
elsif (i>=10 && i<100)
number = 0’ + i.to_s
else

number = i.to_s

end
a = ’plot \’’+ com[1] + number +’.txt\’’+opt(com)
+ ”\n"+’pause 1;+n \n"+”\n”
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- listplots_con.rb

plot.push a
out.push ’set output \’’+ com[1] + number +’.eps\’’
+ ||\n||+a
end
ter = ’set terminal postscript enhanced color eps’
+||\n||
range = ’set xrange [’ + x_min + ’:’ + x_max + ’]’
+ "\Il" +
’set yrange [’ + y_min + ’:’ + y_max + ’]’ + "\n'

contents = range
ter = ter + range
for i in O..plot.size-1 do
contents = contents + plot[i]
ter = ter +outl[il
end
/0000000000000 00b00ob0Oo0oboDooboooo
ggboobobooogbbboooobobbooogno

filename2 = ’save_eps.gpl’
File.open filename2, ’w’ do |f|
f.write ter

end

puts ’made save_eps.gpl’

return contents
end
//QuickTime U0 O ODODOOOOOOOODOOOO
epsU0O00OOOO0O0OOOOOO0ODOODOOOOODOO
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listplot3d_con.rb

def listplot3d_con(com)
b = com[2].split("[")

c = b[1].split("..")

d = c[1].split("1")

e = com[3].split("[")

f = e[1].split("..")

g = £[1].split("]1")

h = com[4] .split("[")

i = h([1].split("..")

j = il1].split("]")

x_min = c[0].to_s

x_max = d[0].to_s

y_min = f[0].to_s

y_max = g[0].to_s

z_min = i[0].to_s

z_max = j[0].to_s

contents = ’set pm3d’ + "\n" +
’set xrange [’ + x_min + ’:°
+ "\n" +
’set yrange [’ + y_min + °:°
+ "\n" +
’set zrange [’ + z_min + ’:’
+ "\n" +

end

’splot ) +7\;7+ com[l] +7\77
return contents

+ x_max + ’]°
+ y_max + ’]°
+ z_max + ’]°

+opt (com)+ "\n"

/0000000000000 0oo00oooobobobooo
gogbobbuoooobbboooobbobooooboboooon

N
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option.rb
def opt(com)
1

p
lp = com.include?("option=linespoints")

com.include?("option=1lines")

com.include?("option=points")

d = com.include?("option=dots")
i = com.include?("option=impulses")

if (1==true)
flag = ’lines’
end

if (p==true)
flag = ’points’
end

if (lp==true)
flag = ’linespoints’
end

if (d==true)
flag = ’dots’
end

if (i==true)
flag = ’impulses’
end

if (flag==’1ines’)
temp = ’ with lines’
elsif (flag=="points’)
temp = ’ with points’
elsif (flag=="dots’)
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-~ option.rb

temp = ’ with points’
elsif (flag=="dots’)

temp = ’ with dots’

elsif (flag=="1linespoints’)
temp = ’ with linespoints’
elsif (flag==’"impulses’)
temp = ’ with impulses’
else

temp = 7’

end

return temp
end

//0000 optionD O OOOOOODOODO

N
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0000 (Metastable Solvent Epitaxy) 0D 0000000000000
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Al MSE2DO0O0OOOO0O

MSE2DOOO0ODOOO0ODOOO0DOOO0DOO0obDooobooobooon

OO00OO0000 autocale

A.1.1 mse2d.rb

f
def mse2d(title)

t0 = Time.now

$crystal = []
$solute = []
$solvent = []
solute_ave = 0
$time2 = 0
$flag_Attach
$rock = 0
first_countO = 0
first_seed = []
first_feed = []
break_flag = 0
kk_flag = 0
$edge_count = 0

Il
(@)

$ledge_count = 0

tmsO = Process.times

mse2d.rb ~
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mse2d.rb
ff_p = []
Dir.chdir("all_def")

require ’make_cell’

require ’checkConcentration’
require ’atomswap’

require ’feed’

require ’seed’

require ’plot’

require ’trymove’

require ’escape’
Dir.chdir("..")

$array2 = make_cell($atom_hei,$length,$length,
$seedfront [0] [1]+1,$feedfront[1]-1)

puts ’seedfront = [’+$seedfront.join(’,’)+’]"’

puts ’feedfront = [’+$feedfront.join(’,’)+’]’
first_seed.push [$seedfront[0] [0],$seedfront[0] [1]]
first_feed.push [$feedfront[0],$feedfront([1]]
#print_matrix($array2,$height)

puts ’0 = ’+(first_countO=count0()) .to_s

kk = 0
Dir.chdir (ARGV[0]) #O OO pathOOODODODDOO0OOOOOO
(ARGV[0]) O OO

checkConcentration_seed_point ()

make_res_point (kk,$cc_point)

ff_p.push $feedfront [0]
puts ’check0’
for mse in 1..$time
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mse2d.rb

if ($solute.length<$select)
feedDetach()
#seedDetach()
solutehead = 0
while(solutehead<$solute.length-1)
trymove (solutehead)
if ($flag_Attach==1)
solutehead = solutehead-1
$flag_Attach = 0
end
solutehead += 1

end

else
solute_array = []
for solutehead in 0..$solute.length-1
solute_array.push solutehead
end
flag = 0
while(flag!=1)
feedDetach()
#seedDetach ()
$select.times do
if (solute_array.length>0)
n = rand(solute_array.length)
trymove (solute_array([n])
if ($flag_Attach==0)
solute_array.delete_at(n)
else
solute_array.pop
$flag_Attach = 0

end
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else
flag = 1
break
end
end
end
end
solute_ave += $solute.length

if ((mse % 100) == 0)
kk += 1
checkConcentration_seed_point()
if ($crystal.length>0 && kk_flag==0)

pp = kk
kk_flag =1
end

#make_res_atom3d(kk,$concentration)
#make_res_seed2d (kk,$cc_seed2d)
make_res_point (kk,$cc_point)
puts ’check’+mse.to_s
end
$time2 = kk - 1
ff_p.push $feedfront[0]
if ($feedfront[1]-$seedfront [$seedfront.length-1] [1]<3
$feedfront [1]==$length-1)
puts ’break’
break_flag=1
break
end
end
$time2 += 1

mse2d.rb ~
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mse2d.rb
#puts

#puts print_front ()

#puts

#puts ’feedfront = [’+$feedfront.join(’,’)+’]"’
#print_matrix($array2,$height)

puts ’0 = ’+count0().to_s

puts ’solute_average = ’+(solute_ave/$time).to_s
puts ’ledge = ’+$ledge_count.to_s

puts ’ edge = ’+$edge_count.to_s

make_anime_point(title,0,0,$height,$length+20,$time2,pp)
save_eps_point(title,0,0,$height,$length+20,$time2,pp)

make_change_eps_to_gif_point ($time2)

res_f = File.open("res_feed.dat",’w’)
for i in 0..ff_p.length-1

res_f.printf ("%d %d\n",i,ff_p[i])
end

res_f.close
file_f = File.open("feedfront.gpl",’w’)

file_f.printf("set xrangel[0:%d]\n",ff_p.length)
file_f.printf("set yrangel[0:%d]\n",$height+10)
file_f.printf("plot \’res_feed.dat\’ w 1\n",ff_p[i])

file_f.close

tl = Time.now
tmsl = Process.times
puts 000 = ’+(t1-t0).to_s
puts 'CPUO DO = ’+(tmsl.utime-tmsO.utime).to_s
if (break_flag==1)
puts ’break’
end




mse2d.rb ~
puts ’pp = ’+pp.to_s
filename_contents = ’contents.txt’

contents_array = []

contents_array.push title+"\n"
contents_array.push Time.new
contents_array.push "\n"
contents_array.push "\n"

contents_array.push ’length = ’+3$length.to_s+"\n"

contents_array.push ’atom_hei = ’+$atom_hei.to_s
+|l\n|l
contents_array.push ’sol_hei = ’+$sol_hei.to_s+"\n"

contents_array.push ’height = ’+$height.to_s+"\n"
contents_array.push ’solventwidth =’
+$solventwidth.to_s+"\n"

contents_array.push ’time = ’+$time.to_s+"\n"
contents_array.push ’select = ’+$select.to_s+"\n"
contents_array.push "\n"

contents_array.push ’seedlimit = ’+$seedlimit.to_s
+"\n"

contents_array.push ’feedlimit = ’+$feedlimit.to_s

+“\n“

contents_array.push ’first_seedfront
[’+first_seed.join(’,’)+’]’+"\n"

contents_array.push ’first_feedfront
[’+first_feed.join(’,’)+’]’+"\n"

contents_array.push "\n"

contents_array.push print_front()

contents_array.push "\n"

contents_array.push ’feedfront = [’+$feedfront.join(’,’)
+2]°+"\n"
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contents_array.push ’seed_growth =’
+($seedfront [$seedfront.length-1] [1]
-first_seed[0] [1]).to_s

+"\n"

contents_array.push ’after_solventwidth =’
+($feedfront [1]-$seedfront [$seedfront.length-1][1]) .to_s
+“\n“

contents_array.push ’solute_average = ’
+(solute_ave/$time) .to_s+"\n"
contents_array.push ’soluteJ [0 =’
+($solute.length) .to_s+"\n"
contents_array.push "\n"

contents_array.push ’[ ledge : edge ] = [’

+$ledge_count.to_s+’ : ’+$edge_count.to_s+’ ]’+"\n"
contents_array.push ’first_countO = ’+(first_countO).to_
4N \1’1"

contents_array.push ’end_countO = ’+count0().to_s+"\n"
contents_array.push * OO0 = ’+(t1-t0).to_s

contents_array.push "\n"

contents_array.push ’CPUL 0O =~

+(tmsl.utime-tmsO.utime) .to_s

contents_array.push "\n"

if (break_flag==1)
contents_array.push ’break’+"\n"

end

File.open filename_contents,’w’ do |f|
f.write 7’

end

File.open filename_contents,’a’ do |f|
f.write contents_array
end

end
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A.1.2 autocalc-mse2d.rb

e autocalc-mse2d.rb

require ’mse2d’

title = ’new_Normal_Feed’
autocalc = 1 #<---calc times

path = Dir.pwd

puts ’START’
for i in O..autocalc-1

$length = 300

$atom_hei = 150

$sol_hei = 150

$height = $atom_hei+$sol_hei
$solventwidth = 100

$feedlimit = $height/2
$seedlimit = O# $height/10
$feedfront = []

$seedfront = []

$seed_end = []
center = $length/2
width = $solventwidth/2
front_move = (center-width-1)/2
$feedfront = [$height-1,center+width-front_move]
$seedfront[0] = [$atom_hei-1,center-width-1-front_move]
$seed_end = [$atom_hei-1,0]
$time = 10000
$select = 1000
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e autocalc-mse2d.rb
#dir_name = title+"_len"+$length.to_s
+"_hei"+$height.to_s+"_sol"+$solventwidth.to_s
+"_select"+$select.to_s+’_time’+$time.to_s
#dir_name = "sample"

dir_name = "present"

Dir.chdir(path)

Dir.mkdir(dir_name)

ARGV [0]=dir_name

puts
puts title+’ : mse2d ---> ’+ARGV[O]
mse2d(title)

end
puts ’END’

N
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A.2 MandelbrotO OO QOOOOOO
s Mandelbrot.rb ~

require ’complex’

def Mandelbrot(x,y)
count=20
z0=Complex.new(x,y)
z=z0
while (z.abs<=4.0)&&(count>0) do
z=z%*z-z0
count-=1
end
return count
end

num = gets.chomp.to_1i
y=-2.0
dd=1.0/num

for time in 0..3
while (y<=2.0) do
x=-1.0
while (x<=2.5) do
printf ("%10.5f, %10.5f, %3d\n",x,y,Mandelbrot(x,y));
x+=dd
end
printf ("\n")
y+=dd
end
y=-2.0
puts ’end ’ + "\n"
end
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A.3 QuickTimeUOUOODOOOOOOO

OO0O0000O000D0O000DO00000000 QuickTimed O OO
gbobobooggbooogn

1.00000000000 QuickTimeOOOOOOOODOOOOOOOO
QTexport 1000000000

mac O (http://www.zaw.jp/download/qt_m.cgi)

windows O (http://www.zaw.jp/download/qt_w.cgi)

O0000D000 QuickTimeProOODOOOODOOODOO ProOOO
goooooog

2.000000000000000 made saveeps.gpl DO O0OOOOO
O000000000gnuplot 0000000000 epsOO0O0O0O00OO
ooooo

JepsU 00000000 OO0DOOOODOOOODOOONO change-gif.rb
OO000D0gift0000O0O0ODOO

400000 gf00000 QTexport 00000000 QuickTime O O
0000000000
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change-gif.rb

~

Dir.mkdir("jpeg")

Dir.mkdir("gif")

Dir.mkdir("eps_point")

Dir.mkdir("dat_point")

for i in 0..100

if (i<10)
number = ’000’+1i.to_s
elsif (i>=10 && i<100)
number = ’00’°+i.to_s
elsif (i>=100 && i<1000)
number = ’0’+i.to_s
else

number = i.to_s
end

a = ’gs -dNOPAUSE -sDEVICE=jpeg -sOutputFile=res_point’

+number+’ . jpg —q —dBATCH -gb00x300 res_point’+number+’.¢

Tx [#{a}]
b = ’sips -s format gif res_point’ + number
+ ’.jpg ——out res_point’ + number + ’.gif’
Tx [#{b}]
¢ = ’'mv -f -v res_point’+ number .jpg ... jpeg_point
Tx [#{c}]
d = ’mv -f -v res_point’+ number .gif . gif_point’
hx [#{d}]
e = 'mv -f -v res_point’+ number .eps ... eps_point’
lx [#{e}]
f = '’mv -f -v res_point’+ number .dat ... dat_point’
hx [#{£}]
puts ’change res_point’+number+’.eps’
K‘end )
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